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(Marks 45) '

The ﬁgures in the margm mdlcate Jull marks
- for the questions

1. (a) Solye the. followmg system, by lmear
¥ eCIuatlons :”';7:', ity g
x-3y+z=-1
2x+y 4z— =1

6x ~Ty+8z =17,

. N O . ;
(b) . (1) Fmd the value of the following
determmant by:Sarrus' method : S
. 25436
A=[5"3 1
(ii) « State the _four properties of
determinants. | 4



( 2)

2. (@ If |
1 2.7.1
A=|0"177=1
|31 1

show that A3-3A4A2-A+9I=0. .
Or

(b) Find the inverse of

]2 3=
A=|4 1 7
6 2 0
' 3
3. (a) {z) Evaluate hm x—5x*-10x g 4

x—>© 3 x—4x?

(i) A steel plant produces x tons of |
steel per week at a total cost of

¢ (%x:3 —5x2 +99x + 35) Find the

output at which marginal cost
attains its minimum. S5

- Or
(b} F1nd the max1mum and minimum
values of y=2x° —3x +x— 20 T N U
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(3 )

4. (a) State and discuss the various areas
where the computer applications are

used. : 9

Or

(b) Discuss the various types of protocols
used in Internet. i

S. (a) Discuss the various types of computef

networking. ' 9

Orhp i
(b) Write notes oﬁ_t_he following : 5+4=9
‘:.(,i) , I.mportance of /e-commerce
(u) ljfawbacks of an Internet

s

K %k
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( PART : A—OBJECTIVE )
( Marks : 25.)

The figures in the margin indicate full marks for the questions

SECTION—I
( Marks : 15)

1. Indicate whether the following statements are True (T)
or False (F) by putting a Tick (v) mark : 1x5=5

(a) If two rows or two columns of a determinant are
identical, the value of determinant is unity.

(. x4, F )

(b) A s%uare matrix A is called an orthogonal matrix
if A

(T / F)

/145




(2 )

(c) The derivative of a constant function 18 2€ro.

(T / F)

(d) The unit of a computing system which performs
rations is called

all numerical and logical op€
control unit. ' '

(T / F)

(e) CPU is considered as the heart of the computer
system. '

(T: 7. Eg)ie
2. Choose the correct answer and place its code in the

brackets provided : ' - 1x10=10

. (a) A square métrix A is called 'a_siﬁgulér matrix if

2 Wl ALE0 510 A
(i) A%=A i
o fiinAS =T
i) HAI=L : L
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( 3)

(b) The cofactor of ag, of

2 4 6
3 0 -1
4 -4 2
is
() —4
(i) -20
(i) 20
(iv) 24 - [

(c) Matrix addition is
(i) only commutative
(ii) iny associative
(iii) both commutative and associative

(iv) neither commutative nor associative

[
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(4)

(d) The derivative of x 2 with respect to x is

(i) —2x1
(i) —2x72
(i) —2x3
(iv) 2x [

(e) If A.is an invertible square matrix, then
(i) (adj Aj’ =adjA’
(ii) (adjA)l=adjA™!
(iii) AAfl =Ala=1

(iv) ‘Al of the above ‘ [
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(5)
AX:BiS

N A '
ansg’icem of linear equations
as a unique solution i

(i) 1A|=0
(i) |A]=0 and (adjA)B#0
(i) |A|=0 and (adjA)B=0

(iv) (adjA)B=0

(g9 The binary equivalent of the decimal number

13.i;s

() 1101‘
(if) 1011
(i) 1110

(iv) 111
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(6)
(h) A byte is a group of
(i) 4 bits

(ii)) 6 bits

(iii) 8 bits

(iv) 2 bits

() Hexadecimal number system uses the base of

Q) 2

(i) 8
(i) 10

(iv) 16 | [ ]

() The machine-independent program is
(i) high-level language | {

(ii) low-level language

(iii) asse_mbly language

(iv) 'machine language [ | ]
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(7)

( Marks 10)
¥

3. A e

and deterrninant' |

5410

(a . N "
) Distinguish between matrix
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(8)

(b) Operating System (OS)
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(9)



(10 )

(d) Compiler
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| .l
( 11 )

(e) Identity matrix
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‘12 )

() Evaluate Lm
x—5 JC"5
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(13 )

* k k
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